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BT60 TH 0.20%86*coil 405+15
BT60 TH 0.20%128*coil 405+15
BT60 TH* 0.30%165%*coil 40020
NBS60 NS 0.30%180*coil 400£15
NBS60 NS 0.40%160%*coil 39020
BT60 TH* 0.40%165%*coil 40020
BT60 TA 0.50%165*coil 40020
BT60 TA 0.60%160*coil 40020
BT60 TA 0.80%165%coil 40020
NBS55 NS 1.00%240%coil 40020
NBS55 NS 1.20%220%coil 40020
NBS55 NS 1.40%125%coil 40020
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ik gL ik HV
NBS55 NS 0.30*180*1000 40015
NBS60 NS 0.40%160*1000 40015
NBS60 NS 0.50%238*1000 40015
NBS55 NS 0.60%173%1000 40020
NBS55 NS 0.70%105%1290 38020
NBS55 NS 0.80*220%1000 38020
NBS55 N3 1.00%300%1000 40020
NBS55 NS 1.20%292*1000 38520
NBS55 NS 1.60%220%1000 410%20
NBS55 NS 2.00%180%1200 38020
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